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QUESTION 1
Scenario: Raxlon Inc.

Case Study Title (Case Study): Raxlon Inc. is a Fortune 500 Company dealing in high value drugs and pharma
products. Its annual turnover is over 120 billion $. It has more than 100,000 employees all over the globe in its RandD,
Manufacturing and Marketing Units. Raxlon\\'s CEO, Dr Peter Fowles, is a pharmacology expert and has over 72
patents on various types of drugs mainly used for treating patients with genetic disorders. Raxlon is now moving into a
suite of high end critical drug products used for Genetic Repair of congenital Diseases like Alzhmeir\\'s disease and
Epilepsy. Rexlon has a well developed EA practice and in 2009 the EA practice has adopted TOGAF 9 as the primary
Framework for Enterprise Architectural Change Agent.

Dr Fowles\\' main concerns are: Security of the critical data which they have gained over the years after painstaking
research. Although Rexlon had an adequate security system Dr Fowles feels it may not be adequate to deal with the
new order of things, especially with data which is highly confidential and if leaked would have major financial impact on
the Company. Dr Fowles calls his CIO and explains his position to him and entrusts whim with the responsibly of
evaluating the current security system, operation and governance and determine which are the gaps which need to be
addressed during the fresh architectural work. Assume that a new Security Framework would be used in the ADM life
cycle. To protect Rexlon\\'s valuable IP. The CIO apprises the Lead Architect of the sensitive nature of the work he has
to complete within the next 2 months.

Identify which of the following processes would be most appropriate for the Lead Architect to adopt in this situation.

A. ldentify the sources of threat, review the relevant security statutes, see how disaster recovery can be achieved, find
who are the actors vis vis the system and design suitable access control mechanisms, identify critical data and
applications and ensure that they are given the highest level of security

B. First revisit the Preliminary Phase to determine the tailoring of ADM vis a vis Security. Identify any change in the
Principles or additions to be carried out. Engage with all Stakeholders to finalize the Vision. Then in Business,
Information systems and Technology Architectures ensure the Security Frame work adopted to the ADM addresses all
critical security issues. Finally conduct an overall review to assess how effective the security ecosystem designed is and
whether it meets the security level desired

C. Invoke Preliminary Phase and Vision Phase Identify Sources of threat, review and determine revised regulatory,
security and assumptions, document them get management buy in , develop business continuity plans especially for
critical data operations, assure data, application and technological component security.

D. Determine who are the people who are hacking into similar organizations, ensure that highly secure measures are
taken when external people enter the RandD and manufacturing locations, ensure that there is a very strong firewall so
that people cannot get illicit entry into the system, periodically check the effectiveness of the security measures

Correct Answer: A

QUESTION 2
Scenario: St. Croix Consulting
Please read this scenario prior to answering the question

St. Croix Consulting started as an accounting and financial services company. It has expanded over the years and is
now a leading North American IT and Business Services provider.

With numerous practice areas and a multitude of diverse engagements underway at any given time, overall engagement
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management has become challenging. The company does not want to risk its outstanding reputation or its international
certifications and CMM ratings. Senior partners must become team players, working to support the broader needs of the
company and its shareholders.

The Enterprise Architecture team has been working to create St. Croixs Enterprise Architecture framework to address
these issues. The team has defined a preliminary framework and held workshops with key stakeholders to define a set
of principles to govern the architecture work. They have completed an Architecture Vision at a strategic level and laid
out Architecture Definitions for the four domains. They have set out an ambitious vision of the future of the company
over a five-year period.

An Architecture Review Board has been formed comprised of IT staff executives and executives from the major practice
areas.

The Enterprise Architecture framework is based on TOGAF 9.

The Chief Executive Officer and Chief Information Officer have co-sponsored the creation of the Enterprise Architecture
program.

Refer to the St Croix Consulting Scenario:

You have been assigned to the role of Chief Enterprise Architect.

As the EA team prepares to formulate an Implementation plan, they have been asked by the CIO to assess the risks
associated with the proposed architecture. He has received concerns from senior management that the proposed
architecture may be too ambitious and they are not sure it can produce sufficient value to warrant the attendant risks.
You have been asked to recommend an approach to satisfy these concerns.

Based on TOGAF 9, which of the following is the best answer?

A. An interoperability analysis should be applied to evaluate any potential issues across the Solution Architecture. Once
all of the concerns have been resolved, the EA team should finalize the Architecture Implementation Roadmap and the
Migration Plan.

B. The EA team should gather information about potential solutions from the appropriate sources. Once the Solution
Architecture has been assembled, it should be analyzed using a state evolution table to determine the Transition
Architectures.

C. Prior to preparing the Implementation plan, the EA team should create a consolidated gap analysis to understand the
transformations that are required to achieve the proposed Target Architecture. The EA team should gather information
about potential solutions from the appropriate sources. Once the Solution Architecture has been assembled, it should be
analyzed using a state evolution table to determine the Transition Architectures. An interoperability analysis should be
applied to evaluate any potential issues across the Solution Architecture.

D. Prior to preparing the Implementation plan, there are several techniques that should be applied to assess the risks
and value of the proposed transformation. In particular, the EA team should pay attention to the Business

Transformation Readiness Assessment and the Business Value Assessment.

Correct Answer: C

QUESTION 3
Scenario: Global Mobile 1

Please read this scenario prior to answering the question
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Global Mobile is a mobile telecommunications company formed through a series of mergers and acquisitions. They are
yet to fully integrate the customer service systems for the most recent acquisitions, and as result, customer service has
been a major concern for the Chief Technology Officer.

Results for the last two quarters have shown that Average Revenue Per User (ARPU) and the customer retention
(Churn) rate have fallen below the industry average. The Corporate Marketing group has published some new findings
about customer satisfaction. The customers appear to be switching to Air Light, a competitor, because of superior
customer service. Global Mobile actually has better coverage in nearly all markets than Air Light, and good roaming
agreements that keep rates low for business travelers. But, customer satisfaction has remained low.

The Business Strategy group and the Enterprise Architecture group have conducted a high-level project to develop the
enterprise-wide strategic plan. They have developed a business scenario which contains a good conceptual model of
what needs to be done, and also identifies the key requirements. This was used in preparing the proposal presented to
the Executive Council and the Corporate Board.

The planning for the program has been underway for several months. Global Mobile has selected TOGAF 9 as the basis
for its Enterprise Architecture.

The Corporate Board has approved funding for a multi-million Euro conversion to transition to a packaged Customer
Service System. It is anticipated that the overall program will take five years to complete, but there are some tactical
projects that can commence immediately to address the situation. The Corporate Board has placed one additional major
constraint on the program. In addition to achieving the business outcomes directly related to improving overall customer
service within each business unit, the Corporate Board expects the Target Architecture to produce an additional saving
of at least 30% over current operating costs through energy efficiency initiatives, virtualization of servers and
workstations, and expanded telecommuting and desk-sharing. This Green initiative is intended to become a model for
future investments at all company facilities worldwide.

Refer to Global Mobile scenario

You have been engaged as a consultant to advise the Chief Architect on the best ways to approach to the
implementation planning activities for this significant business transformation.

Based on TOGAF 9, which of the following is the best answer? (Is this the right answers to choose?)

A. You recommend using conventional implementation planning techniques. The horizontal scope of the Green initiative
would make the Capability-Based Planning approach used in the organization\\'s TOGAF-based Enterprise Architecture
framework difficult to manage and govern. This approach to planning was better applied within the vertical scope of a
business unit.

B. You recommend that the implementation planning activities be conducted using Capability-Based Planning. This is
appropriate because the Green initiative is an enterprise-wide plan with a horizontal scope. Its metrics are aggregated at
the enterprise level. It is crucial to gain business unit support and cooperation to achieve the broader business
outcomes which will benefit all.

C. The Capability-Based Planning approach used in the organization\\'s TOGAF-based Enterprise Architecture
framework is focused on business outcomes. The Green initiative is an infrastructure program that is technical in nature;
therefore, it would not be appropriate to use the Capability-Based Planning approach. Instead, the Global Mobile
systems development lifecycle approach should be utilized to develop the Solution Architecture.

D. You recommend using conventional implementation planning techniques. The Capability-Based Planning approach is
normally only used in public sector, defense-related programs. This approach is not appropriate for a private sector
company.

Correct Answer: B
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QUESTION 4

Scenario: Please read this scenario prior to answering the Question You have been appointed as a consultant to the
Lead Enterprise Architect of an international agricultural company that exports bulbs, flowers and seeds worldwide. The
company has its headquarters in the Netherlands, and has sales and distribution centers in over 30 countries worldwide.
Several of these centers include administrative, manufacturing, and research facilities.

To achieve full integration of their research capabilities with their development centers located in various

climate zones, the company wants to develop strong self-directed teams in each location. It also wants to

define new business models that are profitable while reducing their impact on the environment. The

management team is deeply committed to ensuring that the company is a world leader in socially

responsible seed development with a business strategy that focuses on profitability through

environmentally friendly operating processes.

The international operations of the company are subject to legal and regulatory requirements for each

country where they operate. The production of genetically modified seeds has governmental controls that

are strictly enforced and compliance is critical. Recently a competitor was heavily fined for violating the

regulations in a country where it was developing pest-resistant seeds.

The Governing Board is concerned about the risks posed in this complex global environment, and as a

result has approved the expenditure of resources to establish an Enterprise Architecture program. They

have requested to be informed about the status of projects that could impact regulatory compliance. They

also want to enable the corporate legal staff and auditors to analyze proposed architectures to ensure that

they are within the legal guidelines for a given location. In addition, the research organization should be

able to see that the architecture is appropriate for its needs.

TOGAF 9 has been mandated as the framework for the development and evolution of the Enterprise

Architecture practice. The Preliminary Phase has been completed to establish the enterprise architecture

capability for this project.

Refer to the Scenario

You have been asked to recommend an approach that would enable the development of an architecture

that addresses the needs of the Governing Board, legal staff, auditors and the research organization.

Based on TOGAF 9, which of the following is the best answer?

A. You recommend that each project architecture activity is developed using a consistent modeling approach that is

uniform across all architecture projects. Each architecture should be defined based on this fixed set of models so that all
concerned parties can examine the models to ensure that their issues and concerns have been addressed.
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B. You recommend that a special report be created for those groups that have sufficient power and level of interest. This
report should summarize the key features of the architecture with respect to the particular location. Each of these
reports should reflect the stakeholders1 requirements.

C. You recommend that a set of models be created for each project architecture that can be used to ensure that the
system will be compliant with the local regulations. Stakeholders should then view the models to verify that their
concerns have been properly addressed.

D. You recommend that a stakeholder map be developed. This will allow the architects to define groups of stakeholders
that share common concerns. A set of views should be defined to address the concerns for each group of stakeholders.
Architecture models should then be created for each view to address the stakeholders\\' concerns.

Correct Answer: D

QUESTION 5

Scenario:

Please read this scenario prior to answering the Question

You have been assigned the role of Lead Enterprise Architect for a manufacturing firm that specializes in
musical instruments. The firm has been established for over 100 years, operating in North America for
most of that time. In the last ten years, the firm has expanded into European markets and will soon
establish a market in Latin America. A future expansion into the Asia Pacific region is also planned.

The firm is organized into several business units that each focus on manufacturing particular families of
instruments such as brass, woodwind, and percussion. Each business unit has acquired other producers
to expand its manufacturing capacity. This has resulted in a complex environment with a high diversity of
business and manufacturing systems.

The Enterprise Architecture (EA) program within the firm has been functioning for several years. It has
made significant progress in consolidating the technology portfolio and establishing key standards. The
CIlO and the COO are pint sponsors of the EA program. The EA program is mature, with an active
Architecture Board and a well-defined architecture process and standard content templates based on the
TOGAF 9 Architecture Content Framework. The EA process framework is well coordinated with the PMO,
Systems Development, and Operations functions.

The firm has completed a strategic plan to reorganize its Sales and Marketing organization according to the
four target geographic markets. One of the goals of this reorganization is to improve the ability of
Marketing to collect more meaningful market analytics that will enable each sector to better address

market needs with effective marketing campaigns and global product presence.
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A Request for Architecture Work to address the goals of the reorganization has been approved. As the
architecture team commences its work, the CIO has expressed concerns about whether the firm will be
able to adapt to the proposed architecture and how to manage the associated risks.

Refer to the Scenario

You have been asked how to address the concerns of the CIO.

Based on TOGAF 9, which of the following is the best answer?

A. In Phase B, the team should create a set of views that will enable them to identify the factors that will influence the
successful introduction of the architecture into the organization. There should then be an assessment of each factor on
a maturity scale that will allow the team to gauge the urgency, readiness, and degree of difficulty to fix. These factors
can then be used to assess the initial risks associated with the proposed architecture.

B. In Phase A the team should analyze their risk by completing an Implementation Factor Assessment and Deduction

Matrix to identify the particular risks associated with the implementation and deployment. The matrix should include a

list of factors to be considered, their descriptions, and constraints that should be taken into account. These factors can
then used to assess the initial risks

associated with the proposed architecture.

C. In Phase A, the team should use the Business Transformation Readiness Assessment technique to identify the
factors that will influence the successful introduction of the architecture into the organization. The assessment should
include determining the readiness rating for each factor based on a maturity scale that will allow the team to gauge the
urgency, readiness, and degree of difficulty to fix. These factors can then used to assess the initial risks associated with
the proposed architecture.

D. In Phase A, the team should conduct a Business Scenario to identify the stakeholders\\' concerns and the resulting
retirements. Once the retirements have been identified, they can be assessed in terms of their risks. The risks should be
evaluated in terms of how they could be avoided, transferred, or mitigated. Any risks that cannot be resolved should be
identified as residual risks and their disposition should be decided by the Architecture Board.

Correct Answer: C
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